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Scaler Yield Calculation
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Yield Calculation
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Lumi Cuts

e tdcTimeRaw cuts on pTrigs and EDTM
e Evttype cuts (HMS Evitype==2, SHMS Evttype==1)
e abs(current-setcurrent) < 2.5

SHMS (pion) SHMS (electron)
e P_hgcer_npeSum > 1.5 e P_hgcer_npeSum > 0.5
e P_aero_npeSum > 1.5 e P_aero_npeSum > 2.0
e P_cal_etottracknorm < 0.3 e P_cal etotnorm > 0.8

HMS (electron)
e H_cer npeSum > 6.0
e H_cal_etottracknorm > 0.6



Track Lumi Cuts

e tdcTimeRaw cuts on pTrigs and EDTM
e Evttype cuts (HMS Evitype==2, SHMS Evttype==1)
e abs(current-setcurrent) < 2.5
e (P)H_goodscinhits ==
e abs(P_gtr_beta-1) > 0.3
SHMS (pion) SHMS (electron)
e P_hgcer_npeSum > 1.5 e P_hgcer_npeSum > 0.5
e P_aero_npeSum > 1.5 e P_aero_npeSum > 2.0
e P_cal_etottracknorm < 0.3 e P_cal_etotnorm > 0.8

HMS (electron)
e H_cer_npeSum > 6.0
e H_cal_etottracknorm > 0.6



10.6 Lumi Run #1

e P_SHMS = +6.842, Theta_SHMS = 6.495
e P_HMS =-3.266, Theta_ HMS = 12.530



T1 (or T3) scaler / mC
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Rel. Yield Scaler

HMS Carbon 5154-5299

Y/Yo=7.87e-05%+1.00
1.06 - 5
X?=2.48e+00
o | mp=7.87e-05
@ 104 6mo=1.70e-02
©
U 1.02 A
wn
D 100 . oo o
3
> 0.98 -
[
o’ 0.96 -
0.94 -
0 20 40 60

HMS Rate [kHZz]

HMS Carbon 5154-5299

Y/Yo=8.39e-05%5+1.00
1.06 - 5
X?=2.50e+00
] mp=8.39e-05
L 6mo=2.16e-02
1.02
1.00 +——w . = == N
0.98
0.96
0.94-
0 10 20 30 40 50 60 70

Current [uA]



Rel. Yield track

HMS Carbon 5154-5298
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Rel. Yield track

HMS Carbon 5154-5299
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Rel. Yield track

HMS Carbon 5154-5299
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10.6 Lumi Run #2

e P_SHMS = +6.053, Theta_SHMS = 6.495
e P_HMS =-4.204, Theta_ HMS = 14.930



Rel. Yield track

HMS Carbon 5178-5181
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Rel. Yield track

HMS Carbon 5178-5181
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Rel. Yield track

HMS Carbon 5178-5181
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10.6 Lumi Run #3

e P_SHMS = -6.269, Theta_SHMS = 13.500
e P_HMS =-3.09, Theta_SHMS = 35.010



Rel. Yield track

HMS Carbon 5351-5358
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Rel. Yield track

HMS Carbon 5351-5358
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Rel. Yield track

HMS Carbon 5351-5358
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